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How much force does it take to move one brick compared to three?

_________________________________________________________

What is Needed

· 3 bricks

· Your hands

________________________________________________________________________

What to Do

Place a brick on the floor.  Push it with sufficient force to accelerate the brick fast enough to travel 1 foot in 1 second.  Then push with enough force to make the brick travel 2 feet in 1 second.  Finally, push with enough force to make the brick travel 3 feet in 1 second.  What do you observe?

Once again, place one brick on the floor.  Push against it.  The force you exert on the brick causes it to change from being at rest to being in motion.  The brick is accelerated.  

Now place a second brick on top of the first one and push again.  If you wish to get the same acceleration you did previously, you will have to push twice as hard.  Add a third brick.  Now you will have to push with still greater force to get the same acceleration you did the first time. 

What have you proven?

________________________________________________________________________

What is Happening?

Newton’s Second Law informs us that the force required to accelerate an object is proportional to the mass of the object and the acceleration given it.  Mathematically, this means:  FORCE = MASS x ACCELERATION.  The larger the mass, the more force is required to keep an object accelerating at a given rate.

